
Variation in g with Height. 
 

Acceleration due to gravity at the surface of the earth   
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Acceleration due to gravity at height h from the surface of the earth   
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Important points 

(i) As we go above the surface of the earth, the value of g decreases because 2
1
rg  . 

(ii) If r then 0g , i.e., at infinite distance from the earth, the value of g becomes zero. 
(iii) If Rh   i.e., height is negligible in comparison to the radius then from equation (iii) we get 
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(iv) If Rh   then decrease in the value of g with height: 
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